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 l
oo
p(
_,
zs
) 
= 
re
v 
zs

  
  
  
  
in

  
  
  
  
  
 l
oo
p(
 l
,[
])

  
  
  
  
en
d

Po
nt
oz
ás
 (
ös
sz
es
en
 m
ax
. 
9 
po
nt
):

  
 M
in
de
n 
ki
se
bb
 h
ib
áé
rt
 1
−1
 p
on
t,
 m
in
de
n 
sú
ly
os
 h
ib
áé
rt
 2
 v
ag
y 
3 
po
nt

  
 l
ev
on
ás
. 
 S
úl
yo
s 
hi
bá
na
k 
sz
ám
ít
 p
l.
 e
gy
 e
ls
e 
ág
 e
lh
ag
yá
sa
 (
−2
 p
on
t)
 v
ag
y 
a

  
 v
ég
te
le
n 
re
ku
rz
ió
 (
−3
 p
on
t)
. 
 S
eg
éd
fü
gg
vé
ny
be
n 
a 
fe
jk
om
me
nt
 h
iá
ny
a:
 −
2

  
 p
on
t,
 d
e 
ne
m 
kö
ve
te
lm
én
y 
a 
fe
jk
om
me
nt
be
n 
a 
fü
gg
vé
ny
 t
íp
us
án
ak

  
 s
pe
ci
fi
ká
lá
sa
. 
 H
a 
na
gy
on
 r
os
sz
 a
 p
ro
gr
am
 h
at
ék
on
ys
ág
a,
 −
2 
po
nt
 a
 l
ev
on
ás
.


